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3. This Question Booklet consists of this cover page, and
a total 120 items.Use Blank pages available at the end
of Question Booklet for rough work.
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to select one of the answers that is considered to be
correct by her/him. She/He will mark the answer
considered to be correct by filling the circle.

5. Use black/blue ball point pen to darken the circle.
6. See the following illustrations.
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1. Thesumof20and 12 is

(@) 32 (b)38 ()31 (d)34
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55. The square root of (10+V25)(12-V49)

56.

57.

58.

59.

60.
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If 10% of electricity bill is deducted, ¥ 45 is
still to be paid. How much was the bill?

a) 350

b) 45
c) 55
d)

Find average of natural numbers from 1 to
55.

a) 30

b) 28
c) 28.5
d) 32

The ratio of two numbers is 5:6 and their
L.C.M.is 480, thentheirH.C.Fis?

The average of three numbers is 77. The
first number is twice the second and the
second number is twice the third. Find the
firstnumber.

a) 132

b) 130
c) 77
d) 78
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62.

63.

64.

65.

66.

The outer layer in the body wall
of tapeworm is
a) Cellular cuticle

b) Non-cellular cuticle
c) Epithelial

d) Syncytial

Which of the following does not apply
to earthworm?

a) Indirect development

b) Protandry

c) Extracellular digestion

d) Closed circulatory system

The absorption of fructose by
intestinal mucosa is
a) Co-transport mechanism
b) Simple diffusion

c) Facilitated transport

d) Active transport

Lophophore in Cephalodiscus is
a) Three armed

b) Two armed

¢) One armed

d) Many armed

One of the factor required for the maturation
of erythrocytes is
a) Vitamin A

b) Vitamin D

c¢) Vitamin B12
d) Vitamin C

What is diapedesis?

a) A kind of amoeboid movement

b) The process of filtration of urea in kidney

c) A type of locomotion found in Hydra

d) Migration of WBCs into the tissue spaces
from the blood capillaries
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67. The atrial depolarization is marked by
which wave on the ECG?

a) P WAVE

b) QRS WAVE

c¢) TWAVE

d) UWAVE

68. The cavity of the diencephalon is known
as

a) 1% ventricle

b) 3" ventricle

c) 2" ventricle

d) 4™ ventricle

69. The blood calcium levels are lowered by the
deficiency Of......ccoovvveinrnnnee.
a) Parathormone
b) Thyroxine
¢) Calcitonin
d) Both a) and b)
70. Which of the following cells supports,
nourishes and protects the neurons?
a) Nissl bodies
b) Perikaryon
c) Ganglia
d) Glial cells

71. Blastula of frog is called......................
a) Stereoblastula
b) Coleoblastula
¢) Discoblastla
d) Superficial blastula

72. The experiment of Spemann and mangold
first defined which features of the
amphibian embryos ?

a) Zygote

b) Blastopore

¢) Neural tube

d) Organizer
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73.

74.

75.

In human beings, the eggs are ...
a) Microlecithal

b) Macrolecithal

¢) Meiolecithal

d) Alecithal

Which of the following gene control the
final structure of appendages from

each segment?
a) HOX gene

b) Gap gene

c) Pair-rule gene
d) maternal gene

Which technique is commonly used
for gene knock out in mice?

a) Microinjection of GFP

b) RNA interference

c) Cre/10XP system

d) DNA microarray

During gastrulation in Xenopus , the future
mesoderm and endoderm move inside
the embryo through the 'blastopore’ in
contrast, Inchickens, gastrulation involves
cells movinginward through the .................
a) Blastoderm

b) Yolk

¢) Cleavage furrow

d) Primitive streak

77. Polymerase used for PCR is extracted is

78.

from
a) Escherichia coli

b) Homo sapiens

c) Thermus aquaticus

d) Saccharomyces cerevisiae

Which of the following facilitates
nucleosome positioning?

a) Nucleosome remodeling complex
b) Topoisomerase Il

¢) SMC protein

d) DNA binding protein
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81.
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83.

84.

With respect to end terminal modification

of the histone tail which of the following

options is true?

a) Lysine — phosphate modification

b) Serine— methylation

c) Acetylation — transcriptionally active

d) Modifications —involvement in gene
expression

Which of the following is a function of a
modified histone tail?

a) Association with adjacent nucleosome
b) Interaction with DNA backbone

¢) Interaction with chromodomains

d) Formation of 40-fold DNA structure

The distinct zig-zag appearance of the
chromatin fibre is due to
a) Nucleosome
b) Histone H1
¢) Histone core
d) Linker DNA

Out of the following which cyclin triggers
cells to move from GO to G1 and from G1
into S-phase

a) CyclinD

b) Cyclin A

c¢) CyclinB

d) CyclinE

. Which gene is used in animal DNA

barcoding?
a) ITS
b) tufa
c) rbcl
d) CO1

Order of prophase 1 of meiosis 1?

a) Leptotene, zygotene, pachytene,
diplotene, diakinesis

b) Zygotene, pacytene, diplotene,
leptotene, diakinesis

¢) Pachytene, zygotene, leptotene,
diplotene, diakinesis

d) Diplotene, diakinesis, zygotene,
pachytene, leptotene.
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89.

. Cell-mediated

immunity is carried out
while humoral immunity is
mainly carried out by....................

a) B cells/T cells

b) Epitopes/Antigens

c¢) T cells/B cells

d) Antibodies/Antigens

. A living microbe with reduced virulence

that is used for vaccination is considered?

a) A toxoid
b) Dormant
¢) Virulent
d) Attenuated

Name the cytokines which are released
in response to virus infection?

a) Interferons

b) Monokines

c) Lymphokines

d) Interleukins

Monoclonal antibodies recognize a single

a) Antigen
b) Bacterium
c) Epitope
d) Bcell

Which of the following element is required
for production of thyroxin?

a) NadCl

b) Bromine

c¢) lodine

d) Fluorine

Parts per billion can be represented as:
a) mg/Kg

b) nl/l

c) ug/l

d) H9/g
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92
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94.

95.

96.

Which of the following is the major
environmental cue for migration of
birds during winter?

a) Instinct

b) Duration of day length

c) Learning

d) Falling temperature

Which statement is true about progenitor

cells?

a) They are same as stem cells

b) They are totipotent cells

c) They cannot divide

d) They can divide but do not
remain differentiated as stem cells

There is small gap between two neurons
at synapses. The purpose of gap is
a) Unidirectional flow of information
b) Slow down speed of propagation
c) Coupling of charge over membrane
d) Reabsorption of neurotransmitter

Among the following which enzyme used
NAD as cofactor?

a) Histone methyl transferase

b) Histone acetyl transferase

c) Histone deacetylase

d) Histone demethylase
Mammalian jaw has evolved from .........
a) Pharyngeal arches

b) Dentary and squamosal bones

c¢) Frontal bone

d) Temporal bone

Ants and bees social structure include
queen, sterile female workers and
soldier drones. This is best example of

a) Altruism

b) Eusociality

c) Group selection
d) Sub-social
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97.

98.

In India, brown antlered deer (sangai) is
found only in the floating landmasses
Of e,

a) Dal lake

b) Wular lake

¢) Lok Tak lake

d) Sasthamkotta lake

Probionts in aquaculture are regularly

used to ...

a) Improve the water quality of the pond.

b) Increase the size and weight of fish.

c) For vaccinating the fish against general
bacterial infection.

d) Improve the fecundity of fish.

99. Silk fibroin displays:

100.

101.

102.

a) Antiparallel- B pleated sheets
b) Alpha helix

c) Parallel B sheet

d) Loop structure

In animal kingdom, the group
amniota includes ............

a) Birds and reptiles

b) Birds and mammals

¢) Reptiles and mammals

d) Reptiles, birds and mammals

The colloidal pressure of vertebrate blood
is mainly due to ........

a) Albumin

b) Neutrophil

¢) Globulin

d) Fibrinogen

Thromboplastinis ........cccceueee.

a) Protein of platelets
b) Contractile protein
¢) Both a) and b)

d) Protein of fibres
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103. The pace maker in heart is called
a) Papillary muscle
b) Purkinje fibres
¢) Sino-atrial node
d) Atrio-ventricular node

104.Largest lymphoid organ is
a) Spleen
b) Liver
c¢) Tonsils
d) Peyer's patches

105. Conversion of glucose into glycogen in
liver is called
a) Glycogenolysis
b) Glycogenesis
c) Glycolysis
d) Gluconeogenesis

106. Cartilaginous fishes do not have.................

a) Scales

b) Gill slits

¢) Operculum
d) Pelvic fin

107.Poikilothermic host in the life cycle of
Plasmodium is
a) Man
b) Anopheles
) Culex
d) Bed bug

108.Leishmaniais a
a) Monogenetic
b) Digenetic
c) Non-pathogenic
d) Both a) and b)

parasite.

109.Which of the following is a correct
matching?
a) Glossina palpalis - Kala azar
b) Culex fatigans— Malaria
¢) Phlebotomus - Sleeping sickness
d) Culex pipiens - Filariasis
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110.Food poisoning is caused by

I11.

a) Entamoeba coli
b) Salmonella

c) Shigella

d) Bacillus subtilis

Pyrethrum insecticide is obtained from
a) Derris

b) Crysanthemum cinerarifolium

c) Azadirachta indica

d) Sabadilla officinale

112.The study of genomes from all microbes in

113.

a particular environment as opposed to the
genome from one organism is known as

a) Transcriptomics
b) Metagenomics
c) Proteomics

d) Metabolomics

Silver fish belongs to Order ..................
a) Thysanura

b) Thysanoptera

c) Orthoptera

d) Collembola

114.Halteres are presentin ...............

a) Beetles
b) House fly
c) Honey bee
d) Butterfly

115.Insect legs suited for swimming are

known as...................
a) Saltatorial
b) Fossorial
c) Natatorial
d) Scansorial
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116.

Plant parasitic nematodes have.................
main hypodermal chords.

a) One

b) Two

c¢) Three

d) Four

117. The 'Biological clock’ in higher vertebrates

118.

119.

120.

is regulated by........

a) The pituitary gland

b) Cerebral cortex

¢) Supra<hiasmatic nucleus in hypothalamus
d) Thymus

Whichgroup of organisms serves as the
best indicators of pollution in a stream?
a) Plankton

b) Neuston

c¢) Benthos

d) Nekton

Which one of the following is the correct
sequence of ecosystems in the order of
decreasing productivity?

a) Oceans,Lakes, Grasslands, Mangroves
b) Mangroves, Oceans, Grasslands, Lakes
c) Mangroves, Grasslands, Lakes, Oceans
d) Oceans, Mangroves, Lakes, Grasslands

Aldosterone is involved in .......... .
a) Electrolyte balance

b) Carbohydrate metabolism
c) Growth and development

d) Fat metabolism



